E]-—‘%— % O] “]-H]—Zq Alo] 7

pi W)
rlo
O

O xP+2x+1=x%-1 @ x> +3=(x-1)*
@ (x=1)(x+2) =4x @ B -xr+2x=0

® 2x-5=0



322 4+ 5x - 2 = 05 ARG (ax + b)(cx + d) = 07+ Fr
o, a+ b+ c+d2 S Foted=t

D S
=%

ol



3.

O]i]'tg_;g/jl x2 + (a— l)x_a — O 94

T-3tefzt.

B
-






O y=-5x+1
® y=3-2x%+ x(1+ 2x)

® y=(x—-4)2- <x+;)2

@ y=x>-(x+1)2

1
@y=—§x2+1






7. ool oAFS FolA 1 ol 2 B

1
D y=-x2 @ y=4x? @y 2

1
= —3x? ®y= —§x2



8. TeZ:y— —§<x—3)2 o] Tejmey

@ @

-30| x



9.

il

1 _ . - _
y= 5 (c+2)? @) TeAZAN o] A B HE

o]t
ke e i
O x=2, (2, 0) @ x=2, (-2, 0
® x=-2, (2,0) @ x=-2, (-2, 0)

® x=-2, (0, -2)



10.

=

e

o]
=

O|ZMAA 42 ax—5=03+2x2 - Tx-3b=0 2] &
o, a + b o] = FSHA L.

&=
=%

of



@ (x-3)2%2=0
® x*+6x+9=0

® (x+6)(x-6)=9



12. 22 4 6x411-a =0 °] she] 2& 7H o, o 9 ghe Poofel,

5 S
=%



o, m? + n? 9]

St
=

m, n ©|2f

o
=

0°]F

A x2 —5x -2

g

H
?

017}

s

13.

©
o

@ 29 ® 36 @ 47 ® 67

O 25






15.

=919 4do]7} 18m
Tt A 2?

@ x2_9x+2020
@ x2—18x+2020

® x2-20x+18=0

o

17} 20m? Q1 ZALZg o] b2 9] ho] x &

@ x24+9x+20=0

@ x>2+18x+20=0



=
o

Aot thg

ki

of o

I

oA y = 262~ 1 9] 17

O o
J=Jau

16. ¢t

ol

A s

® A (1,1)= Ad



17.

& % o) Fol olxt4o] THLE x Fof A A7le] v
A Ao e AL

D y=x2 ©y=-x*-1

©y=(x+1)>2 @ y=x+1

0.6 26066 06,6 ®oe 006



el
Tol

oT
rJ
s

(2x-1)2=3 9

0

0

5

o

ol %t

18.

@1 @ 2 ® 6

@ 0



19. OlAPEAA La? - Jx—1=0 o] & Foha?




2]zt

o
=

4x2 425 = 20 Va2

>~

HF 2] A

17}

20.

.

2 2




=

=

SHe x -y © g Fateleh (g,



7= oA X% +-5x 4k =5 = 0

o

=
T2

il

]

stofzt.

:’7_

O
=

W, &9 44k o 3

o
o



23. OlAAA 1222 taxtb=00 %ol L _Lorm 4upo e

34
T-5tofzt,

D L
=%



24. "= EIEWS

&

15H n7b2] €

5 L
I:I'i




25. AAWL y = axt b o] DT 4G 187 28 1), 05 F o)
T4y =ax? + b 9 IO HF2?

yl\

/,

0] T

@
y‘
O
T
@
y’
|
z

o <
< (@) <
8 5 8



